UNIVERSITY OF TECHNOLOGY, WEST BENGAL

(Formerly known as West Bengal University of Technology)



For the

FIRST YEAR B.TECH (ME) FIRST SEMESTER EXAMINATION OF 2015-2016

Name

SOURAV BHOWMICK

Roll No.

27600714087

Registration No.

142760110194 OF 2014-2015

Subject Code	Subjects Offered	Letter Grade	Points	Credit	Credit Points
HU101	ENGLISH LANGUAGE & TECHNICAL COMMUNICATION	В	7	2.0	14.0
PH101	PHYSICS-1 of University of Technology West Heapal Mandana Abat Kel	D	5	4.0	20.0
M101	MATHEMATICS-Is a sent transporting of technology over being a trade to a	C	6	4.0	24.0
ME101	ENGINEERING MECHANICS	D	5	4.0	20.0
ES101	BASIC ELECTRICAL & ELECTRONIC ENGINEERING-I	D	5	4.0	20.0
PH191	PHYSICS-I	median E	9	2.0	18.0
ES191	BASIC ELECTRICAL & ELECTRONIC ENGINEERING-I	E	9	2.0	18.0
ME192	WORKSHOP PRACTICE	0	10	3.0	30.0
HU181	LANGUAGE LABORATORY	0	10	1.0	10.0
XC181 Construction of control of the control of th	EXTRA CURRICULAR ACTIVITIES (NSS/NCC/NSO ETC.) Together of Shermones Weet Bergal Meaning Africa Same and Control of Shermone And Shermone Africa Same and Control of Shermone And Shermone	Not it from () and through your property of the control of the co	TO SECTION AND SECTION OF THE SECTIO	minio 1.0 cm. Minion and a minimo a minimo and a minimo and a minimo	10.0
SGPA	ODD (1st) SEMESTER : 6.81	and by Dame Accel Con- midge Weath Decre- tion of the Accel Header Services Accel From	Total	27 DGPA	184
SGPA					
YGPA					
Result					
College / Institu	BUDGE BUDGE INSTITUTE OF TECHNOLOGY (2	276)	-		
Kolkata, The	15TH MARCH 2016	Indus Controlle		uKlercj ninations (

MAULANA ABUL KALAM AZAD UNIVERSITY OF TECHNOLOGY, WEST BENGAL

(Formerly known as West Bengal University of Technology)



For the

FIRST YEAR B.Tech. (ME) SECOND SEMESTER EXAMINATION OF 2015 - 2016

Name SOURAV BHOWMICK Roll No. 27600714087

Registration No. 142760110194 of 2014-2015

	And Christopher and Technology, West Height Minday Flori Ration And Lineviews of Feel and Minday And Kadom And Kadom And Kadom And Ledwin Minday Mind	Letter Grade	Points	Credit	Credi Point
CS201	BASIC COMPUTATION & PRINCIPLES OF COMPUTER PROGRAMMING	nur Abol Kalen	logy. \ 5 st Resp Aread Univers	4.0	20.0
CH201	CHEMISTRY-Lam Ared University of Technology, West Broggel Mandana Abul Kala	A.C	6	4.0	24.0
M201	MATHEMATICS-II are all Technologs, West Borgal Manhous Abul Kalim Azul University of Technologs, West	D	5 Jan	4.0	20.0
ME201	ENGINEERING THERMODYNAMICS & FLUID MECHANICS	D halan	5	4.0	20.0
ES201	(PART-1)BASIC ELECTRICAL & ELECTRONIC ENGINEERING-	C	6	4.0	24.0
CS291	BASIC COMPUTATION & PRINCIPLES OF COMPUTER PROGRAMMING LAB	lengel Elimbon exity of Declino con Apol Kulan	Acted States	2.0	18.0
CH291	A CHEMISTRY-I charlegy, West Bengal Shautania Abut Kalam Azaid Culversity of Tech	oligy A ret lie	8	2.0	16.0
ES291	BASIC ELECTRICAL & ELECTRONIC ENGINEERING-II	Frega Alauhan	8	2.0	16.0
ME291	BASIC ENGG DRAWING & COMPUTER GRAPHICS	A	8	3.0	24.0
myarsity at Technal lantana Abel Kafam admalags, West Ber	(ii) Maidana Abuf Kolum Azad University of Technology, West Bengal Maidana Abuf Kalaly of Technology, West Bengal Maidana Abuf Kalam Azad University of Technology, West	natings, West Jia na Arad, University Scorper Mandon Priors of Techno	agat Atoutana ity of Technolo	ly of Technolog bud Kalam Avi p. West Beaga load University at Musium (d	 West Head Control Mandana of Technol herical
	eg., West Braggi Magiana Abal Kalem Azed University of Technology, West Braggi Ward Azed University of Technology, West Bengel Mandinez Abul Kafam Azed University of Technology, West Bengel Maximo Abul Kalem Azed University of Technology, West Bengel Maximo Abul Rula	ant Ahril Kultin milings, West Be di Azad Faliyon		to of Technolog that Kathers Are ty, West Hongai	r, West flor Is Carnesia Mostana S
atam Azad University Bengal Muntan, niversity of Technol Institute Abad Kalan Canada One Develope Technology, West Ben Trans Can University See Bengal Muntan	egy, West Bragut Maislana Abul Kalam Azad University of Technology, West Bangal Mant Azad University of Technology, West Bengal Mandina Abul Kalam Azad University of Technology	nidagy, West Be ti Azəd 4 nivers gengir Wunter	ngal Manhima s	had Justin his	S CHIMANIA S
atam Arad Universives Rengal Muntan, naversity of Technol Institute Ahal Kalam centuring West Her man Cran University Hernal last Rengal Muntan, intervals of Technol	(2) West Bungai Maislanu Abul Kahen Azul University of Technology, West Bungai Mand Azud University of Technology, West Bengai Mindiana Abul Kadam Azud University of Technology, and Azudama Abul Kahan Azud University of Technology, West Bengai Mandana Abul Kaha at Technology, West Benjasi Mandani Abul Kadam Azud Enversit of Technology, Abul Kahan Azud University of Technology, West Bengai Masdani Abul Kahan Azud University of Technology.	nidagy, West Be in Azod I missira sengar Stanton rists of Techno	ngal Slantana / ity at Lectuolo (tuo seasan	that Kafen Ari y. West Heagai you conversors	182.0
adam Azad Universives Reingal Mandan, airversity of Technol Institute, Afrika Kafan eventuria, and the Arabida Institute, West Hopathan Court University of Technol Institute and Instit	(c) West Bungai Maislanu Abul Kalem Azul University of Technology, West Bungai Mand Azud University of Technology, West Bengai Mindion, that Katam Azud University of Technology, and Azudana Abul Kalam Azud University of Technology, West Bengai Mandana Abul Kalam Abul Kabam Azud University of Technology, West Bengai Masdana Abul Kabam Azud University of Technology, West Bengai Mandana Abul Kabam Azud University of Technology, West Bengai Mandana Abul Kabam Azud University of Technology, West Bengai Mandana Abul Kabam Azud University of Technology, West Bengai Mandana Abul Kabam Azud University of Technology, West Bengai Mandana Abul Kabam Azud University of Technology.	nidagy, West Be in Azod I missira sengar Stanton rists of Techno	ngal Slantana / ity at Lectuolo (tuo seasan	29.0	182.0
adam Azad Culversi sest Rengal Maudan, artiverity of Technol histories Alful Kafan vennings West Bor main Cour University sest Rengal Mandace SGPA OD SGPA EV	to West Bringal Mandanii Abul Kahmi Azul University of Technology, West Bringal Mandazad University of Technology, West Bringal Minding, that Kahmi Azud University of Technology, West Bringal Minding Abul Kahmi Abul Kahmi Azud University of Technology, West Bringal Mandanii Abul Kahmi Azud University of Technology, West Bringal Mandanii Abul Kahmi Azud University of Technology, West Bringal Mandanii Abul Kahmi Azud University of Technology, West Bringal Mandanii Abul Kahmi Azud University of Technology, West Bringal Mandanii Abul Kahmi Azud University of Technology, West Bringal Mandanii Abul Kahmi Azud University of Technology, West Bringal Mandanii Abul Kahmi Azud University of Technology, West Bringal Mandanii Abul Kahmi Azud University of Technology, West Bringal Mandanii Abul Kahmi Azud University of Technology, West Bringal Mandanii Abul Kahmi Azud University of Technology, West Bringal Mandanii Abul Kahmi Azud University of Technology, West Bringal Mandanii Abul Kahmi Azud University of Technology, West Bringal Mandanii Abul Kahmi Azud University of Technology, West Bringal Mandanii Abul Kahmi Azud University of Technology, West Bringal Mandanii Abul Kahmi Azud University of Technology, West Bringal Mandanii Abul Kahmi Azud University of Technology, West Bringal Mandanii Abul Kahmi Azud University of Technology, West Bringal Mandanii Abul Kahmi Abul Kahmi Azud University of Technology, West Bringal Mandanii Abul Kahmi Abu	nidagy, West Be in Azod I missira sengar Stanton rists of Techno	ngal Slantana / ity at Lectuolo (tuo seasan	29.0	182.0
adam Azad Culversions Reingal Mustan. accepting of Technol landanga Ahul Kafan echnology West Bor gram Court Color accepting Court Bor gram Court Color SGPA OD SGPA EV	to West Bringal Maislann Abul Kalein Aved University of Technology, West Bringal Maisland University of Technology, West Bringal Maisland Kalom Aved University of Technology and University of Technology and Maisland Abul Kalom Aved University of Technology and Maisland Maisland Abul Kalom Aved University of Technology, West Bringal Maisland Abul Kalom Abul Ka	nidagy, West Be in Azod I missira sengar Stanton rists of Techno	ngal Slantana / ity at Lectuolo (tuo seasan	29.0	182.0

Kolkata, The 31ST AUGUST, 2016

Indraud Muklerjee

Controller of Examinations (Actg.)

MAULANA ABUL KALAM AZAD UNIVERSITY OF TECHNOLOGY, WEST BENGAL

(Formerly known as West Bengal University of Technology)



For the

SECOND YEAR B.Tech. (ME) FIRST SEMESTER EXAMINATION OF 2016 - 2017

Name SOURAV BHOWMICK

Roll No. 27600714087

Registration No. 142760110194 of 2014-2015

Code	And talturary of fermolog, West freque Statistics And Kallan And University of feet and Maudana Abul Kalan Abu	Letter Grade	Points	Credit	Credi
HU301	VALUES & ETHICS IN PROFESSION	I D	logy, \7 st Beng	3.0	21.0
PH301	A PHYSICS-III Technology, West Bengal Maulana Abul Kahan Atad University of Technology	nings Coss R		bed 4.0 m \r	24.0
CH301	BASIC ENVIRONMENTAL ENGINEERING & ELEMENTARY BIOLOGY	Fengal Branian	Abof Kalam ogs, West Ban	3.0 crait	21.0
ME301	APPLIED THERMODYNAMICS	of the Article States	Arade sivers	4.0	24.0
ME302	STRENGTH OF MATERIALS by of Technology, West Rougal Mandama Abol Kada	ArmC alver	ty of 6 chmolo	3.0	18.0
ME303	ENGINEERING MATERIALS		6 . Ben	3.0	18.0
HU381	TECHNICAL REPORT WRITING & LANGUAGE LAB PRACTICE	В	Azad y alvery	2.0	14.0
PH391	PHYSICS LAB,-2 Arad University of Technology, West Bangal Manhara Abul Kala		ty of Z ehindor	2.0	14.0
ME391	MACHINE DRAWING-I	0	10	2.0	20.0
ME392	WORKSHOP PRACTICE-II			2.0	18.0
ch ME393 oc lla since AAAL Universal stille mad Mainten presently of Jechno- mines Abail Saba- chambers, West Bit lane Acad Universal stratign of Jechno- mines Abail Sadan dans A-soft Luisversal dans A-soft Luisversal	(gd Maidum Abul Kalum Acad University of Judanilogy, Wast Bengal Maiduty Abul Kala by of Technology, West Resign Majdum Abul Katam Acad University of Technology, West	Sengal Montana existy of Lecture are violated and Montana montana. Most Laurer- bengal Montana pro Angle Katas entogy, West Bray Azzal University Laught Munitana existy of Explosi- ty Azzal University existy of Explosi- nas Onto Explosi- nas Onto Explosi-	agy, Wesi Bong scall University of Mandana A dy of Technisha Abid Kalam, ogy, West Ban Arad University of Technisha Abid Kalam, ogy, West Belg Azad University	y, v. 2.00 kengal and L. gaveralty and Mantana Mk ty of Technolos bul Kerlum Aza y, Wort Uchundo zad University if Mantana Ax w of Technolos bul Kataut Aza y, West Bengal wat Curiyer-See pit Mantana Ax y of Technolos Bul Kataut Aza y of Technolos Bul Kataut Aza y of Technolos Bul Kataut Aza y of Technolos Bul Kataut Aza y of Technolos	of Kation A n, West He of Universit
or house Monday drawing of Federal adiana Afril Kalin adiana West Bi than Olan Univer- on Bengal Manha aversity of English aversity of English	Azad University of Technology, West Bengal Moulana Abul Katism Azad University of Technology. West Bengal Mautana Abul Katism Azad University of Technology, West Bengal Mautana Abul Katism Sand University of Federal Sand	Azid Luivez Rengal Vizinian Luivilla of Techni	Total	30.0	o) Technol
or Bougal Wander develop of Techni- silana Abul Kala- chinology West Bi man Wan Univer- out Bengal Manda inversity of Techni-	Azad University of Technology, West Bengal Mondana Ahol Kaforo Azad University of Technology. Wast Rengal Mondana Arid Kyfara Azad University of Technology, West Rengal Montana Ahol Kyfares of the Committing West Rengal Montana Ahol Kaforo Man University of Technology, West Ahol Kofara And University of Technology, West Bengal Manhala Ahol University of Technology, West Bengal Manhala Ahol University of Technology, West Bengal Manhala Ahol Kyfara And University	Azid Luivez Rengal Vizinian Luivilla of Techni	Ty of Technolog	y. West Benga 200 University	210.0
or Bougal Wander develop of Techni- silana Abul Kala- chindres West Bi man Wan Univer- out Bengal Manda inversity of Techni-	Azad University of Technology, West Hengal Mondana Aliod Katson Azad University of Technology, West Rengal Valutana Azad University of Technology, West Rengal Valutana Ahrd Kylis et al. technology, West Rengal Wanning, Wasa Aliod Katan Azad University of Technology, Wasad Aliod Katan Azad University of Technology, Wasad Rama Azad University of Technology, West Bengal Mandana Aliod University of Technology, West Bengal Mandana Aliod Katina Azad University of Technology, West Bengal Aliod Res.	Azid Luivez Rengal Vizinian Luivilla of Techni	Ty of Technolog	30.0	210.0
or Bougal Mustar Develop of Jechno- silana Afral Kata Indian Sha Liner out Bougal Maintai Branch Ad Incline SGPA O	Azad University of Technology, West Hengal Mondana Aliod Katson Azad University of Technology, West Rengal Valutana Azad University of Technology, West Rengal Valutana Ahrd Kylis et al. technology, West Rengal Wanning, Wasa Aliod Katan Azad University of Technology, Wasad Aliod Katan Azad University of Technology, Wasad Rama Azad University of Technology, West Bengal Mandana Aliod University of Technology, West Bengal Mandana Aliod Katina Azad University of Technology, West Bengal Aliod Res.	Azid Luivez Rengal Vizinian Luivilla of Techni	Ty of Technolog	30.0	210.0
or Bougal Number Develop of Fechin Sellana Med Kata- shidana Med Kata- shidana Med Matelan Sellana Med Matelan Sepa Ol Sepa	Azad University of Technology, West Hengal Mondana Aliod Katson Azad University of Technology, West Rengal Valutana Azad University of Technology, West Rengal Valutana Ahrd Kylis et al. technology, West Rengal Wanning, Wasa Aliod Katan Azad University of Technology, Wasad Aliod Katan Azad University of Technology, Wasad Rama Azad University of Technology, West Bengal Mandana Aliod University of Technology, West Bengal Mandana Aliod Katina Azad University of Technology, West Bengal Aliod Res.	Azid Luivez Rengal Vizinian Luivilla of Techni	Ty of Technolog	30.0	210.0

Kolkata, The 16TH MARCH, 2017

Indravil Mukherjee Controller of Examinations (Actg.)

172760432840

MAULANA ABUL KALAM AZAD UNIVERSITY OF TECHNOLOGY, WEST BENGAL

(Formerly known as West Bengal University of Technology)



For the

SECOND YEAR B.Tech. (ME) SECOND SEMESTER EXAMINATION OF 2016 - 2017

Name

SOURAV BHOWMICK

Roll No.

27600714087

Registration No.

142760110194 of 2014-2015

Subject Code	Azad University of Technology, West Bengal Visitana Abul Kaban Azad University of Technology, West Bengal Visitana Azad USubjects Offered West Bengal Visitana Abul Kaban Azad Dudsersity of Tuchnology, West Bengal Visitana Abul Kaban Azad Dudsersity of Tuchnology, West Bengal Visitana Abul Kaban Azad Dudsersity of Tuchnology, West	Letter Grade	Points	Credit	Credit Points
MCS401	NUMERICAL METHODS	В	Aggs, West Ber Agud Tigh en	2.0	14.0
M402	MATHEMATICS -3 of University of Technology, West Bengal Mantana Abril Kalan	C	6	4.0	24.0
ME401	FLUID MECHANICS & HYDRAULIC MACHINES		Almo Salam	4.0	20.0
ME402	MECHANISMS about New Rengal Ministrative Abol Kutawa and Curvanity of Technology.	D	5	3.0	15.0
ME403	PRIMARY MANUFACTURING PROCESSES	B		4.0	28.0
MCS491	NUMERICAL METHODS LAB	NE Kalin	Ared 9	1.0	9.0
ME491	FLUID MECHANICS & HYDRAULICS LAB	A Land	8	2.0	16.0
ME492	MANUFACTURING TECHNOLOGY LAB	rath E locked	ogy Vigi Ben Azus aliver	2.0	18.0
ME493	MATERIAL TESTING LAB			2.0	16.0
ME494	MACHINE DRAWING -II	A	8	2.0	16.0
riam Vaid Upiver or time at Maular receipts of Terrim admire Affal Reful chambers, West the data One University of Maulan of Maulan Affal Maulan attention of Technology, Maria Affal Radia chambers, West the	Jig., West Bengal Manlana Abul Salam Azad University of Technology. Way Bengal Manla (Axad University of Technology, West Bengal Manlana Abul Katam Azad University of Technology, West Bengal Manlana Abul Katam Azad University of Technology. West Bengal Manlana Abul Katam Azad University of Technology. West Bengal Manlana Abul Katam Azad University of Technology. West Rengal Manlana Abul Katam Azad University of Technology. West Bengal Manlana Abul Katam Azad University of Technology.	A said University of Earliest Maritan or Said University of Earliest Burgal Maritan Burgal Maritan of Earliest Maritan of Earliest Earliest Maritan Earliest Maritan Said University of Earliest Maritan Abel Katan Said Maritan Said Maritan Said Maritan Said Said Maritan Said Said Said Said Said Said Said Said	Chub kedata ogy, West Ren Azor Frahera ogul Shunhina Ay of Lexando Abul Sevina Sogy, West Ban Cent Chibber	with A poor site of Abudhum Alexant Technology, Was a warman of Statement of Statement Agent for Statement for Sta	on Technological Scaling and Technological Scaling and Control of
nigar, yezar terriyen ya Borgar Mundaz shace (Esar Trichm	(c) of performing, west neighbor Mandatha Albu Kaham Azho University of recombing, west neighbor of a family and finish Analytic for the formation, west lineigh Multime Abul Kaham Sand Huistering of Tyshroden. New Brogas Mandatha Abul Kaham Sand Huistering of Tyshroden.	Belgal, Miliozo Galla of Techol Galla Miliozalira	Total	26.0	176.0
SGPA OD	DD (3RD) SEMESTER : 7.00			DGP/	
SGPA EV	EN (4TH) SEMESTER : 6.77				
YGPA 6.	89				
Result P					
College / Inst	itution BUDGE BUDGE INSTITUTE OF TECHNOLOGY (276)				

Kolkata, The 8TH AUGUST, 2017

Controller of Examinations (OSD)

182760530183

MAULANA ABUL KALAM AZAD UNIVERSITY OF TECHNOLOGY, WEST BENGAL

(Formerly known as West Bengal University of Technology)



For the THIRD YEAR B.Tech. (ME) FIRST SEMESTER EXAMINATION OF 2017 - 2018

Name

SOURAV BHOWMICK

Roll No.

27600714087

Registration No.

142760110194 of 2014-2015

Subject Code		Grade	Points	Credit	Credi Point
HU511	PRINCIPLES & PRACTICES OF MANAGEMENT	Maria NB Kalan	and the second second	2.0	14.0
ME501	DYNAMICS OF MACHINES	Katan Azai Citin on	ty of Ti-6 male	3.0	18.0
ME502	1 on Technoloms West frenget Mandring that Reduct and University of Technology, A Alic HEAT TRANSFER of Technology, West Beiged Mindenu And Kalan Arad, Lay, West Respit Worklook And Soldon Anad University of Technology, Wast Bright	Dala Carta	Amel Marian	4.0	24.0
ME503	DESIGN OF MACHINE ELEMENTS	Ten Conto	6	4.0	24.0
ME504	METROLOGY & MEASUREMENT	C	6	3.0	18.0
ME505A	ELECTRICAL MACHINES	В		3.0	21.0
ME581	SEMINAR - I Bargat Mandana Abul Kakan Azad University of Technology West Brogat Mandana Abul Kakan Azad University of Technology S	Kithey Armid Inlyrio	8	2.0	16.0
ME592	APPLIED THERMODYNAMICS & HEAT TRANSFER LAB	A CHARLE	8	2.0	16.0
ME593	DESIGN PRACTICE-I	Catary Aya A nivers	Sal Market	2.0	16.0
ME594	METROLOGY & MEASUREMENT LAB		9	1.0	9.0
ME595A	ELECTRICAL MACHINES LAB - I		ngal M. 9 zee	2.0	18.0
otatia Abut Kalam hitology, West Ber ann Azad Universi it Bengut Masilem versity of Technol status Abut Kalam hisology, West Ber	Azud Chrivensky in Unchrolings, West Bestgal Manfram, Allof Salam Acquil interestly of gal Mandatin Alud Kalam Azud University of Technology. West Bangal Manfram, Aluda ry of Technology. West Bengul Mantain Aluda Kathina Azud University of Technology. Alud Kathin Azud University of Technology. West Remail Manfram Alud Kerlyin Vest Ing. West Bangal Mandaina Aluda Kathin Azud University of Technology. West Bangal Mandain Alud Kathinalogy. West Bangal Mandain Alud Kathinalogy. West Bangal Mandain Alud Kathina Alud Kathina Child Canterior of Aluda Children and Children and Children and Mandain Aluda Kathina Alud Kathina Alud Kathina Alud Kathina Alud Kathina Aluda K	Kidan Ayad Umsers Ayar Rengal Maulan Ledyrotty of Tarligo Anthria Abad Kadan Rechardings, West Bo	ty of Textusilor (Abril Kalam) logs West Bon Anni Universi	Bull Kalam Ang	Ministrata of Trobusti of Calabi of Calabi of Calabi of Calabi of Calabi of Calabi of Calabi of Calabi
are Axed Univers a Beogal Mardon, security of Technol	5 of a (controlog), West theogra American American Gunna And Control of Technology, V. Abud Kathen Azad University of Technology, Www.Hengal American Anni Vetzer Anni I buy, West Borgal Mandana Abud Kathen Azad University of Technology, West Hengal Anni Anni Anni Kathen Azad University of Technology, West Hengal Anni Anni Anni Anni Anni Anni Anni Ann		Total	28.0	194.0
GPA OD	D (5TH) SEMESTER : 6.93			DGPA	Ĭ.
GPA					
'GPA					
tesult	. BUDGE BUDGE INSTITUTE OF TECHNOLOGY (276				

Kolkata, The

3RD FEBRUARY, 2018

Controller of Examinations (OSD)

ULANA ABUL KALAM AZAD

(Formerly known as West Bengal University of Technology)



For the

THIRD YEAR B.TECH. (ME) SECOND SEMESTER EXAMINATION OF 2017-2018

Name

SOURAV BHOWMICK

Roll No. 27600714087

Registration No. 142760110194 OF 2014-2015

Subject Code	Subjects Offered	Grade	Points	Credit	Credi Points
HU611	PRODUCTION & OPERATIONS MANAGEMENT	Watches Abut I trys Arm I to Watchesial System Elist S. Separate West Response	9	2.0	18.0
ME601	IC ENGINES AND GAS TURBINES	C.	6	3.0	18.0
ME602	MACHINING PRINCIPLES & MACHINE TOOLS	distant And Article and Pol Was being America Brock	7	3.0	21.0
ME603	MACHINE DESIGN	morph of Name Days	tongs 5 mins	3.0	15.0
ME604A	AIRCONDITIONING AND REFRIGERATION	Cardon Anna Latin Dall of	5	3.0	15.0
ME605A	MATERIAL HANDLING	В	7	3.0	21.0
ME691	MACHINING & MACHINE TOOLS LAB	E	9	2.0	18.0
ME692	IC ENGINE LAB	West State of State o	-8	2.0	16.0
ME693	DESIGN PRACTICE-II	0	10	2.0	20.0
ME694	DYNAMICS OF MACHINES LAB	West Hought Souther Aller S.	8	2.0	16.0
ME695A	AIRCONDITIONING AND REFRIGERATION LAB	School of the state of the state of	9	2.0	18.0
The social state of the so	of the Lithinston, Well Religio Majolini, Manife Cardo Cardo Conservative Centralings, West Bergol Manusco about tables And University of Centralings, West Bergol Manusco about tables And University of Centralings, West Bergol Manusco, and Kalendard And Centraling and Manusco, and Reagan Manusco, and Centraling and Manusco, Manusco, and Centraling and Traditional And Manusco, and Centraling and Andreas Andreas and Traditional Andreas Andreas and Traditional Andreas Andreas and Andreas Andr	Man pungad Masuna Mjir Na- James Milang Bergal Matthe and Semina Mangal Mangal Manna And Semina Masu Manda M	Total	27.0	196.0
GPA	ODD (5th) SEMESTER 6.93			DGPA	8
GPA	EVEN (6th) SEMESTER 7.26				
GPA	7.09				
esult	P				
ollege / Inst	titution BUDGE BUDGE INSTITUTE OF TECHNOLOGY ((076)			

29TH JULY 2018

Kolkata, The

Controller of Examinations (OSD)

MAULANA ABUL KALAM AZAD UNIVERSITY OF TECHNOLOGY, WEST BENGAL

(Formerly known as West Bengal University of Technology)



For the FOURTH YEAR B.Tech. (ME) FIRST SEMESTER EXAMINATION OF 2017 - 2018

Name

SOURAV BHOWMICK

Roll No.

27600714087

Controller of Examinations (OSD)

Registration No.

Kolkata, The

3RD FEBRUARY, 2018

142760110194 of 2014-2015

Subject Code	and Manhour Ahrid Kalmin Azed Li Subjects Offered Vert Bengin Manhaur Ahrid Kala ar Dictionders, New Econol Alamstia, Mill Kalama Azed Li Particular et Dechanders, New Econol Alamstia, Mill Kalama Azed Li Particular et Dechanders	Letter Grade	Points	Credit	Credit Points
ME701	POWER PLANT ENGINEERING	AB Anton	Tolory	4.0	28.0
ME702	ADVANCED MANUFACTURING TECHNOLOGY	The second secon	8	4.0	32.0
ME703B	RENEWABLE ENERGY SYSTEMS	rate A fundament	8	3.0	24.0
ME704B	ADVANCED WELDING TECHNOLOGY of Nature And I append to Technology	C Vest Be		3.0	18.0
ME705C	of OPERATIONS RESEARCH and Audit Audit University of Technology, West Regard Muslam Abul Kalar Abul Kalar Azad University of Technology, West Abul Kalar Azad University of Technology, West Sengal Abulan Abul Kalar Azad University of Technology, West Sengal Abulan Abul Kalar Azad University	A	8	3.0	24.0
ME791	ADVANCED MANUFACTURING LAB	en Alphable	9	2.0	18.0
ME781	PROJECT: PART 1 STORY OF Exchanges, West Briggs Manham Abd Kala	E	9	2.0	18.0
ME782	VIVA VOCE ON VACATIONAL TRAINING	ratte & lection	10	2.0	20.0
ME783	GROUP DISCUSSION		10	2.0	20.0
entage Abel Refere chanlegs, West 1948 than Arad Universi- ist Orogal Manfant treewilk of Technol	[24] Mandana Abut Kadam Azad University of Technology. West Recogn Standara. Abut feetings of Technology. West Recogn Standara. Abut Kutam Azad University of Technology. West Recogn Abut Katawa Azad Currersky of Technology. West Recogn Standara. Abut Katawa Azad Currersky of Technology. West Recogn Standara. Abut Katawa Azad Currersky of Technology. Who Hongat Ataal.	Land University Senger Mandon optival Technology on Abot Xishin	ings, West flow Ared Universi- igni Mantena Iy of Texhaulor Ural Solium ogs, West flow Sead Universi-	or Oburbans A go of Technolo bul Marum Ad a. West Berno and Luis ever all Martes A y of Eu-Sonio	Out Schulle A Sept. Was been of Control of Attention A Sept. Systems (Control on About Market on About Market
ontony Abril Kolem chanlegs, West Big Many Arad Lauryza- est Orngol Mantan necessity of Februar subma Abril Kalum chanlegs, West Ber man Chanlegs Mantan est Benggi Mantan est Benggi Mantan	by, West Bengul Mandann Abul Kalan, Azzil Criversity of Technology, West Bengul Mandazad University of Technology, West Bengul Mandana Abul Kalan Asad Criversity of Tyck gold Mandana Abul Kalan Abul Lutersity in the Intuiting, West Bengul Mandana Abul Lutersity of Colombia, West Bengul Mandana Abul Kalan Abul Kalan Abul Kalan Abul Kalan Abul Cribersity of Colombia, West Bengul Mandana Abul Kalan Abul	in Mad Kalan	igal Mantina)	bul Katama Ar West Stage	202.0
enlana Abel Kalum chrudagy, West Ber store Abel Environ est Bengat Mariana diversity of Technol	legy, West Bengul Mantham Abul Kalam, Azzil Criver diy, of Technisian, West Bengul Municatal University of Technology, West Bengul Mantham Abul Kalam Casal Criswessle of Frek and Mantham Abul Kalam	en Ami Kalan seling, Won M Land Universe benged Mantau gate of Festion to May New Se y Ayan Universe benged Mantae (ed); of Techno-	igal Mantona dy of Technido (1941 Bollant) ogg, West Blom New University ogal Mantona V ty of Technolog (1941 Mantona	and A streng of Mandage A pool factoring but Kater Ag y, West Briga	s Wet floo
onlars Abril Kulem chandings, West Hai littler Scrol I mivers ext through Mustlan provisits of Ferlinal million Angli Kalimi chandings. West Bea area soon to provise set Bengal Mustlans absention of Todalian absention of Colonial Colo	legy, West Bengal Mandaun Abul Kalam Azal Critica Di, of Technology, 1983 Sengal Manh Azad University of Technology, West Bengal Manhan Abul Kalam East Critical Critical Converses of Free and Manhan Abul Kalam East University of Technology, West Bengal Stantas Abul East Not Technology, West Bengal Stantas Abul East Not Technology, West Bengal Stantas Abul Rakan Azad Critical Abul Kalam Azad Critical Criti	en Ami Kalan seling, Won M Land Universe benged Mantau gate of Festion to May New Se y Ayan Universe benged Mantae (ed); of Techno-	igal Mantona dy of Technido (1941 Bollant) ogg, West Blom New University ogal Mantona V ty of Technolog (1941 Mantona	25.0	s Wet floo
onlars Abril Kuben chredings, West Has allune Azad Louvers and House and House and Hashing Abril Kalium christian Abril Hashing West Hayagai Abril Hashing West Hayagai Abril Hashing and Kalium Christian and Kalium Christian Christia	legy, West Bengal Mandaun Abul Kalam Azal Critica Di, of Technology, 1983 Sengal Manh Azad University of Technology, West Bengal Manhan Abul Kalam East Critical Critical Converses of Free and Manhan Abul Kalam East University of Technology, West Bengal Stantas Abul East Not Technology, West Bengal Stantas Abul East Not Technology, West Bengal Stantas Abul Rakan Azad Critical Abul Kalam Azad Critical Criti	en Ami Kalan seling, Won M Land Universe benged Mantau gate of Festion to May New Se y Ayan Universe benged Mantae (ed); of Techno-	igal Mantona dy of Technido (1941 Bollant) ogg, West Blom New University ogal Mantona V ty of Technolog (1941 Mantona	25.0	s Wet the
onlars Abril Kuben chordings, West His status Azud Louvers status Azud Louvers status of Frehma seests of Frehma status Abril Kalium chests of Frehma status Abril Kalium chemidang, West Hee status Compt Louvers set Hengal Manifans shortelly of Technol SGPA ODD SGPA	legy, West Bengal Mandaun Ahul Kadan, Azal Criterally, of Technology, West Bengal Munication of Technology, West Bengal Mandau Ahul Kudan (East Sawweste of Treke 2) Harlana Ahul Kadan (East Sahaban), and Technology, West Bengal Stantans (Information of Technology, West Bengal Mandaux (Information of Technology, West Bengal Mandaux (Information), West Bengal	en Ami Kalan seling, Won M Land Universe benged Mantau gate of Festion to May New Se y Ayan Universe benged Mantae (ed); of Techno-	igal Mantona dy of Technido (1941 Bollant) ogg, West Blom New University ogal Mantona V ty of Technolog (1941 Mantona	25.0	s Wet floo
onlars Abril Kuben chordings, West His status Azard Lorivers status Azard Lorivers status Azard Lorivers send Hongol Mandam necessits of Fredmen status Abril Kalium chemidany, West Her status Abril Kalium chemidany, West Her status Azard Lorivers set Hergial Mandama shivership of Technol SGPA SGPA YGPA	gy, West Bengal Manthaur Abal Kalam Azad Cristersby, of Technology, West Bengal Mush Azad University of Technology, West Bengal Manthau Arad Kalam Lead Graversby of Frek god Hamlana Aban Kalam Asad University of Technology, West Bongal Studies that Technology, West Bengal Studies, Studies, West Bengal Studies, West Bongal Studies, Abal Region Studies, West Bengal Studies, West Bengal Studies, West Bengal Studies, West Bengal Manthau Abal Region Studies, West Bengal Manthau Abal Region Studies, West Bengal Manthau Abal Region Abal Cristersby of Benhadag, West Bengal Manthau Abal Region Abal Cristersby, West Bengal Manthau Abal Region Studies, West Bengal Manthau Abal Kalam Abal Kalam Abal Region Studies, West Bengal Manthau Abal Kalam Abal Kalam Abal Region Studies, West Bengal Manthau Abal Region Manthau Abal Region Studies, West Bengal Manthau (7TH) SEMESTER: 8.08	en Ami Kalan seling, Won M Land Universe benged Mantau gate of Festion to May New Se y Ayan Universe benged Mantae (ed); of Techno-	igal Mantona dy of Technido (1941 Bollant) ogg, West Blom New University ogal Mantona V ty of Technolog (1941 Mantona	25.0	s Wet the

MAULANA ABUL KALAM AZAD UNIVERSITY OF TECHNOLOGY, WEST BENGAL (Formerly known as West Bengal University of Technology)



For the

FOURTH YEAR B.TECH. (ME) SECOND SEMESTER EXAMINATION OF 2017-2018

Name

SOURAV BHOWMICK

29TH JULY 2018

Kolkata, The

Roll No. 27600714087

Controller of Examinations (OSD)

Registration No. 142760110194 OF 2014-2015

Subject Code	200 University of Terminings, West Rengal Martin, A had Kalam Augil University of Technic Renau Azard University of Technic Subjects Offered (too) Kanar, Azard University of Deligibles And English Martin State (State State	Grade	Points	Credit	Credi Point
ME801HU	ECONOMICS FOR ENGINEERS	The state of the s	6	3.0	18.0
ME802C	ENERGY CONSERVATION & MANAGEMENT	A	8	3.0	24.0
ME803D	AUTOMOBILE ENGINEERING	A	8	3.0	24.0
ME881	DESIGN OF A MECHANICAL SYSTEM	0	10	4.0	40.0
ME882	PROJECT : PART II	E-1	9	6.0	54.0
ME883 MESSASSAMO AND SOLITOR STATEMENT OF THE STATEMENT	COMPREHENSIVE VIVA (http://www.com.org/abs/limited-basels/abs/limited-	The West Control of the Control of t	9	2.0	18.0
construct force	planet and American and America		Total	21.0	178.0
GPA	ODD (7th) SEMESTER 8.08			DGPA	
GPA	EVEN (8th) SEMESTER 8.48			0.0000000	
GPA	8.26			7.29	
esult	P				
ollege / Insti	itution BUDGE BUDGE INSTITUTE OF TECHNOLOGY (276)				